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$OKDPGXOLOODK�� SXML VHUWD V\XNXU� SHQXOLV� SDQMDWNDQ� NHSDGD�$OODK�6:7�\DQJ�

WHODK�PHPEHULNDQ� UDKPDW�� KLGD\DK�� VHUWD� NHODQFDUDQ� VHKLQJJD� 7XJDV� $NKLU� GHQJDQ�

MXGXO�³6LVWHP�7DQ\D�-DZDE�GHQJDQ�$QRWDVL�6HPDQWLN�GL�8QLYHUVLWDV�7HONRP´�LQL�

GDSDW� GLVHOHVDLNDQ� GHQJDQ� EDLN� 7XJDV� $NKLU� LQL� GLVXVXQ� VHEDJDL� VDODK� VDWX� V\DUDW�

NHOXOXVDQ�GL�3URJUDP�6WXGL�6��6LVWHP�.RPSXWHU�)DNXOWDV�7HNQLN�(OHNWUR�8QLYHUVLWDV�

7HONRP�

3HQXOLV� PHQJXFDSNDQ� EDQ\DN� WHULPD� NDVLK� NHSDGD� SLKDN�SLKDN� \DQJ� VXGDK�

PHPEHUL� VDUDQ�� GRURQJDQ�� ELPELQJDQ�� VHUWD� GXNXQJDQ�� 3HQXOLV� EHUWHULPD� NDVLK�

NHSDGD� $//$+� 6:7�� 7XKDQ� 6HPHVWD� $ODP� <DQJ�0DKD� 0HQJHWDKXL� /DJL� 0DKD�

0HQGHQJDU��DWDV�VHJDOD�SHWXQMXN��UDKPDW��NDUXQLD��VHUWD�NHVHPSDWDQ�\DQJ�GLEHULNDQ�

1\D�VHKLQJJD�GDSDW�PHQ\HOHVDLNDQ�EXNX�WXJDV�DNKLU�LQL��3HQXOLV�MXJD�EHUWHULPD�NDVLK�

NHSDGD�RUDQJ�WXD�SHQXOLV��GLNDUHQDNDQ�GHQJDQ�UHVWX�GDQ�GRD�GDUL�PHUHND�SHQXOLV�ELVD�

PHQ\HOHVDLNDQ�EXNX�WXJDV�DNKLU�LQL��8QWXN�WHPDQ�WHPDQ�MXJD�SHQXOLV�EHUWHULPD�NDVLK�

NDUHQD�VXGDK�PHQGXNXQJ�GDQ�PHQHPDQL�SHQXOLV�VDPSDL�VDDW�LQL�

0RKRQ� PDDI� MLND� DGD� SHQXOLVDQ� DWDX� NDWD�NDWD� \DQJ� WLGDN� EHUNHQDQ�� ROHK�

NDUHQD� LWX� MLND� DGD� NULWLN� GDQ� VDUDQ� \DQJ� EHUVLIDW� PHPEDQJXQ� VDQJDW� GLKDUDSNDQ�

XQWXN�PHPSHUEDLNL EXNX WXJDV�DNKLU�LQL��$NKLU�NDWD��VHPRJD�SURSRVDO�WXJDV�DNKLU�LQL�

GDSDW� GLPDQIDDWNDQ� VHUWD� GLNHPEDQJNDQ� EDJL� SHPEDFD� GDQ VHPXD� SLKDN� \DQJ�

PHPHUOXNDQ�

%DQGXQJ� � -XOL�����

3HQXOLV


